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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt'],

[T, "Topt’], ['RH,

"RHopt’ ], ['ETcl’, 'optETcl’], ’"LAI’,

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:40 273 150.0 2.583 |Z=| {Ri%e06:40 Bz (KREAEZEBE)
07:15 273 150. 0 2.583 |Z=| {Ri&e07:15 Bzl (GREEZERSE)
07:50 273 150.0 2.583 (£ =| {Ri%@07:50 Bz (KRAERSE)
08:50 273 150.0 2.583 |Z=| {Ri%e08:50 Bz (KREAEZEHE)
09:35 273 150.0 2.583 |Z=| {Ri&@09:35 Bzl (REEZEHE)
10:10 273 150.0 2.583 FA| {Ri%@10:10 Bz (GRAEEE)
10:45 273 150. 0 2.583 PH| {Ri%@10:45 Bz CGRAEESE)
11:15 273 150.0 2.583 FA| nHfe11:15 B3 (KRAHEREE)
11:55 273 150.0 2.583 FA| FnHfe11:55 Bz (KAHEREE)
12:25 273 150. 0 2.583 [/A| FhHFe@12:25 BHEh (KRAEESE)
12:55 273 150. 0 2.583 |/\fi| FnHA@12:55 Bzh (RAEREE)
13:25 273 150.0 2.583 |/i| FmHA@13:25 Bzl (REAERSE)
13:55 273 150. 0 2.583 [/A| FmHB@13:55 HEh (KAEESE)
14:25 273 150. 0 2.583 |/\fi| FnHA@14:25 Bzh (RAEREE)
15:00 273 150.0 2.583 |/i| FhHA@15:00 Bz (REEHSE)
15:35 273 150. 0 2.583 |/\fu| FhHA@15:35 Bl (KREAEZEHSE)
16:15 273 150. 0 2.583 |/\fi| FnHA@16:15 Bzh (RAEREE)
17:05 273 150. 0 2.583 [/\i§| Fi#He17:05 Bz (RFAEDSE)
2it] 4914.0 (18X%) 2700. 0 ZHKEC: 2200, PH: 5.9

FREVEIN S R KPH 5. 93 N
3 [EHECE (1760. 0 vs 6403.0) 45
FRBVIE NS R IFIREC 2200. 0
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ET (ml/hr/plant)

P3-6_0, Day=76.0 (2025-06-13)
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P3-6

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

05:30 283 150.0 2.583 FH| 1RRi%@05:30 B (FRFAERESE)
06:30 283 150. 0 2.583 FA| 1BRi%@06:30 BH3zh (FKA{EREE)
07:30 283 150. 0 2.583 FE| 1Ri%@07:30 Bzl (RAERESE)
09:05 283 150.0 2.583 FH| 1RRi%@09:05 B (FRFAERESE)
11:30 283 150. 0 2.583 |Z=| {Ri&e11:30 Bz (REERSE)
13:15 283 150.0 2.583 FA| {Ri%@13:15 Bz (GGRAEEE)
13:50 283 150.0 2. 583 PH| 1{Ri%@13:50 B (RAHEEKS)
14:25 283 150.0 2.583 FE| 1BRige@14:25 Bzh (GRAEREE)
15:10 283 150.0 2.583 | =| {Ri&e15:10 Bz (REEZEBE)
15:55 283 150.0 2.583 |Z=| {Ri&e15:55 Bz (REEZEHE)
17:25 283 150.0 2.583 |Z=| {Ri&e17:25 B (REEZEBE)
23t 3113.0 (11%) 1650. 0 3 IHKEC: 2200, PH: 6.0

HEBY 3RS R FHKPH 6. 005
#[EKECE (1803.0 vs 5847.0) 35
HRENE Y S R IKEC 2200. 0




P3-6_0, Day=75 (2025-06-12)
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P3-6

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:50 283 150. 0 2.583 F|  {Ri1%006:50 Bzh (RF{ESE
07:25 283 150.0 2.583 F BRige07:25 Bz (GREERSE)
08:35 283 150.0 2.583 5| {Rig@08:35 B (KRAMERSE)
09:25 283 150. 0 2.583 E BRi&e09:25 BE1 (RAERERE)
10:10 283 150.0 2.583 F[ BRige10:10 Bz CGRAERE)
10:50 283 150.0 2.583 =l {Ri%@10:50 B3 (RAERSE)
11:25 283 150. 0 2.583 E BRige11:25 Bz CGRAERESE)
12:00 283 150. 0 2.583 E| {Rige@12:00 B3h (RE{EREE)
12:30 283 150.0 2.583 = {Rig012:30 B3 (RAERSE)
13:00 283 150. 0 2.583 E BRige13:00 Bz (GRAERESE)
13:30 283 150.0 2.583 5| {Ri%e13:30 B3 (RAERSE)
14:00 283 150.0 2.583 =l RRiB014:00 B (RFAEESE)
14:30 283 150. 0 2.583 E BRige14:30 Bz CGRAERESE)
15:00 283 150.0 2.583 5| {Ri%e15:00 B3 (RAERSE)
15:35 283 150.0 2.583 = RRiBe15:35 B (RFAEESE)
16:15 283 150.0 2.583 = RRiBe16:15 Bz (REAKEE)
17:00 283 150. 0 2.583 El BRi&e17:00 Bz CGRAEREE)
2it] 4811.0 (170%) 2550. 0 EWGHIKEC: 2200, PH: 6.0

FREVE NS K it i%PH 6. 005
#H[ERECE (1847.0 vs 5253.0) 35
FRBVIE NS R IFIREC 2200. 0




P3-6_0, Day=74 (2025-06-11)
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P3-6

BrE) | GEBAK (3 | ERE(EH/AR) | EREE (G/R) [ XS R

06:45 283 150. 0 2.583 5 BRi&@06:45 Bz (RFA{EREIEE
07:20 283 150.0 2.583 5 i18@07:20 B3h (KRFEERSE)
07:55 283 150.0 2.583 5 Bri%@07:55 Bzh (REERESE)
08:30 283 150. 0 2.583 5 ’Ri%@08:30 Bz (kAMERESE)
09:05 283 150.0 2.583 5 B318@09:05 B3zh (KRFBERSE)
10:00 283 150.0 2.583 i B2i%@10:00 Bzh (KREERESE)
10:50 283 150. 0 2.583 & ’Ri%@10:50 Bzh (RAERESE)
11:30 283 150.0 2.583 & Bi&e11:30 Bah (KRBERKSE)
12:10 283 150.0 2.583 5 BRig@12:10 Bzh (RBERESE)
12:45 283 150. 0 2.583 & Ri%e12:45 Bz (GRAERSE)
13:15 283 150. 0 2.583 & ]Ri%e13:15 Bz (RAERSE)
13:45 283 150.0 2.583 5 Bi%@13:45 Bah (kAHEREE)
14:20 283 150. 0 2.583 = Ri%e14:20 Bzh (GRAERESE)
15:00 283 150.0 2.583 5 Bri%@15:00 Bzh (REERESE)
15:40 283 150. 0 2. 583 5 Bi%@15:40 B3h (kBHEREE)
16:25 283 150.0 2.583 & BRi%@16:25 Bzh (KREERESE)
17:20 283 150.0 2.583 B FiTe17:20 B3 CGRAEESE)
2it] 4811.0 (170%) 2550. 0 EWUHIKEC: 2200, PH: 6.0

large discrepency for begining water status (484:123.0), set to 484 ml.

FRAVE NS KFHZPH 6. 005
REE NS RFIKEC 2200. 0
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P3-6

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS R

05:50 278 150.0 2.583 PA| {RRi%@05:50 Bz (GkAMEE:E)
06:40 278 150.0 2.583 FA| 1BRi%@06:40 B3zh (KAB{EREE)
07:30 278 150.0 2.583 (Z=| {Ri%@07:30 Bz (FAERHSE)
09:15 278 150. 0 2.583 | =| {Ri%e09:15 Bzl (REZHE)
10:30 278 150. 0 2.583 |Z=&| BRi%e10:30 Bzl (GRAEREE)
11:15 278 150. 0 2.583 |Z=| {Ri&e11:15 Bz GREEZERSE)
12:15 278 150.0 2.583 (Z=| Rige12:15 Bz (GRAERSE)
13:15 278 150.0 2.583 [/\fi| {Ri%@13:15 Bz (REAERSE)
13:50 278 150.0 2.583 [/\ifi| {Ri%@13:50 Bz (FRAEHSE)
14:25 278 150.0 2.583 FA| 1Bi&@14:25 B3 (KRAEREE)
15:05 278 150.0 2.583 |Z=| {Ri&e15:05 Bz (REEZEHE)
16:15 278 150.0 2.583 (£=| Rige16:15 Bz (REAEDSE)
17:20 278 150.0 2.583 |Z=| {Ri&e17:20 Bz (REEZBE)
23t 3614.0 (13%) 1950. 0 ZHIKEC: 2200, PH: 6.0

large discrepency for begining water status (350:156.0), set to 350 ml.
IRBEN S Rt &PH 6. 005
TRV S RIFEIREC 2200. 0
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